Read the problems and solve

A girl has 77 green marbles, 89 blue marbles and 104 red
marbles. How many marbles are there in all ?

H T O
Number of green marbles
Number of blue marbles .
Number of red marbles —_— "
Total number of marbles -

Anu learnt 96 new words in the first month, 135 in the
second month and 165 in the third month. How many new

word has she learnt together 7
H T O

Number of new words in first month - =

Number of new words in second month —»

Number of new words in third month —

Total number of new words —_———

There are 248 men, 245 women and 44 children in a village.
What is the total number of people staying in the village.

H T O
Number of men —_—
Number of women .
Number of children —~ "
Total number of people in village —_—




